BC Calculus – FDW 3rd Edition – Section 7.1 Even Answers

Quick Review 7.1

2. Changes sign at x = 1, 2   4. at x = 
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  6. Positive  8. 
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Section 7.1
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10.(a) 
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12. 
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14. x(a) = 11m, x(b) = 16m, x(c) = -8m 
16. where? at x = -8 (meters) vs when? at t = c (sec)   

18.(a) xf = 2m  (b) d = 4m   
20.(a) xf = -2.5m (b) d = 19.5m   
22. 93.6 kWh (kilowatt-hours)
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26.(a) 
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  (b) ‘a’ corresponds to the area of midpoint rectangles (above & below)
28. Plot speed vs time. Connect the dots to the find area under the graph vs the definite integral.

30.(a) 1250 inch-pounds  (b) 3750 inch-pounds   

32. True. Since velocity is positive, the integral of velocity equals the integral of its absolute value (speed) which is total distanced traveled.

34. D   
36. A

38. 40 thousandths or .040   
40. 
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